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lnstruction to Candidates:

l) Attempt any One question from each Sections A,B,C & D.

2) Section - E is Compulsory.

3) Use of Non-programmable Scientific Calculator is allowed.

Section - A
(1 x  I0 :  I0)

Ql) What is the use of internet to the society? List and compare different types of
. internet connections option available for home users?

Q2) (a) Explain HTTP request and HTTP response.
(b) Differentiate between HTML and DHTML with

examples

Section - B
(1 x  I0 :  I0)

Q3) Differentiate clearly between the functioning ofTransmission control protocol
and Internet protocol.

Qa) What do you mean by Domain Name Systern? Differentiate between an lP
address and MAC address.
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the help of suitable

Sect ion-c 
( rx to: Io)

) Discuss the execution handling rnechanisrn in Java. Or-rtline a fer.v comrlon
executions in Java.

) Discr,rss the li lb cycle of an Applet. Write a Java progranl that irnplenrents
the Applet  cor lccpt ' l

Q6) Write a suital-rle Jar,'a prograrn to denronstrate the irrpletnentation of threads.
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Section - D"
(1 .x  10:10)

Q7) Compare the working of ServerSocket and Datagramsocket with the help of

suitable examples.

QS) (a) What are different socket options? Explain in detail.
(b) Why can't my applet connect via sockets, or bind to a local port? Explain.

sect ion-E 
( tox2:20)

Qe)
a) What is SLIP?

. b) What is CGI?

c) What is the role of environment variables?

d) What do you mean FTP?

e) What is the use of TELNET?

D What is the difference between an Interface and an Abstract class?

g) What are pass by reference and pass by value?

h) What is static in java?

l) When my client connects to my server, why does no data come out?

j) How a socket is created?
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